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proc genmod data=…; 
class trtp aperiod trtseqp usubjid weightcat base; 
model avalc(event='Y') = trtp aperiod trtseqp weightcat base/ dist=binomial 

link=logit type3;   
repeated subject=usubjid(trtseqp) / type=UN within=aperiod; 
lsmeans trtp / diff cl oddsratio ilink;

run;

proc logistic data=…;
where aperiod = 1;
class trtp weightcat base / param=ref; 
model avalc(event='Y') = trtp weightcat base; 

run;

proc freq data=…;
where aperiod = 1;
tables sitegr1*trtp*avalc / cmh;

run;



proc freq data=…;
by trtseqp; 
tables avalc1*avalc2 / agree;

run;

proc genmod data=…; 
class trtp aperiod trtseqp usubjid weightcat base atptn; 
model avalc(event='Y') = trtp aperiod atptn trtp*atptn weightcat base/ 

dist=binomial link=logit type3;
repeated subject=usubjid(trtseqp) / type=UN within=aperiod*atptn; 
lsmeans trtp*atptn / diff cl oddsratio ilink;

run;



proc logistic data=…;
class trtp weightcat / param=ref; 
model avalc(event='Y') = trtp weightcat; 
output out=predicted p=pred_prob; 

run;

 u

proc mianalyze data=Diffs; 
by penalization_factor; 
modeleffects Estimate; 
stderr StdErr; 

run;

  OddsRatio = exp(Estimate); 
  z = probit(1-0.05/2); 
  UpperOR = OddsRatio*exp(z*StdErr); 
  LowerOR = OddsRatio*exp(-z*StdErr); 



proc lifetest data=…; 
time aval*cnsr(1);
strata trtp; 

run;

proc phreg data=…;  
class trtp aperiod weightcat base; 
model aval*cnsr(1) = trtp aperiod weightcat base; 

run;




